Math 105 - Homework 8 Name:

Simplify the following without using a calculator.

1. 50.42 2. (—3c)? 5 <4xy>3 Hint: cancel common
"\ 8z2 factors first.

4. 2% + 22 + 22 5. (a® + a®)? 6. V22 + 22 + 22 4 22

7. V4ab 8. V/5v5 9. (4)3/2

10. /32 +42 11. (322y)(—425y%) 12. \/25zy4

13. V18x - vV 2a3 u 27 4 15 15 10 Hint: cancel common
N2 8 3 factors first.

437! - 16

1627 +3 17. (335) 18. \/—

19. (2%.30.571)2 20. 871/3 . (433)_1/2



22. (4a3y)(—5a2y*)? 03 D02y’ 24. \/2512

(5zy*)?
3p 26. /1/592/5 ~— Hint: what are
25. {f e {/9p°q 27. V45 the factors of 45%
bg, 20272y - (Lyy=324 30. (z+y)"2(z +y)3y~!
Chr oyl L2y ()

Evaluate. Remember: Powers don’t distribute to terms! Try FOIL-ing instead.

31. (V5 ++/20)” 32. (V50 — v/2)?

Evaluate by converting the decimal to a fraction first.

33. v0.16 34. /—0.008

Find the power of each factor in the expressions below. Then rewrite the expressions using those powers.

35. a-a-a-vb-c-c 56, 010 aabb
c-d-d



